

Subclasses of Analytic and Multivalent Functions Defined by Extended Derivative Operator of Ruscheweyh's Type

1) Mr. Pravin Ganpat Jadhav

*Research Scholar

Shri Jagdishprasad Jhabarmal Tibrewala University, Jhunjhunu, Rajasthan (India)

** Assistant Professor in Mathematics,

Hon. Balasaheb Jadhav Arts, commerce and Science College, Ale, Pune (M.S.), Pin- 412411

Email Id. :- pgjmaths@gmail.com

2) Dr. S. M. Khairnar

Professor and Head

Department of Engineering Sciences, MIT Academy of Engineering, Alandi , Pune-412105, Maharashtra.

ABSTRACT

By means of certain extended derivative operator of Ruscheweyh's type, we introduce and investigate two new subclasses $S_{n,m}^p(\lambda, b, \delta)$ and $G_{n,m}^p(\lambda, b, \delta)$ of p-valently analytic functions of complex order. The various results obtained here for each of these subclasses included coefficient estimate, distortion theorem, radius of starlikeness, convexity and closure theorem.

Keywords & Phrases: - Multivalent function, coefficient estimate, distortion theorem, radius of starlikeness, differential operator.

1. Introduction

Let $A(n)$ denote the class of functions $f(z)$ normalized by

$$f(z) = z^p - \sum_{k=n+p}^{\infty} a_k z^k, \quad \dots\dots\dots(1)$$

$$a_k \geq 0 \quad \text{and} \quad n, p \in \mathbb{N} = \{1, 2, 3, \dots\}$$

which are analytic and p-valent in the open unit disc $U = \{z : z \in \mathbb{C} \text{ and } |z| < 1\}$

We introduce here an extended linear derivative operator of Ruscheweyh's type :

$D^{\lambda,p} : A(1) \rightarrow A(1)$ which is defined by

$$D^{\lambda,p}(f(z)) = z^p - \sum_{k=n+p}^{\infty} \binom{\lambda+k-1}{k-p} a_k z^k \quad \text{where} \quad \lambda > -p, f \in A(n) \quad \dots\dots(2)$$

In particular when $\lambda = n, n \in \mathbb{N}$, it is easily observed from (2) that

$$D^{n,p}(f(z)) = \frac{z^p (z^{n-p} f(z))^{(n)}}{n!}$$

$n \in \mathbb{N} \cup \{0\}, p \in \mathbb{N}$

So that

$$D^{1,p}(f(z)) = (1-p)f(z) + zf'(z)$$

$$D^{2,p}(f(z)) = \frac{(1-p)(2-p)}{2!} f(z) + (2-p)zf'(z) + \frac{z^2}{2!} f''(z)$$

And so on .

$$(D^{\lambda,p}(f(z)))^{(m)} = \binom{p}{m} z^{p-m} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} a_k z^{k-m}$$

Where $\binom{k}{m} = \frac{k(k-1)(k-2)\dots(k-m+1)}{m!}$

By using the operator $D^{\lambda,p}(f(z))$, we introduce new subclass $S_{n,m}^p(\lambda, b, \delta)$ of p-valently analytic function $f(z)$ satisfying the following inequality

$$\left| \frac{1}{b} \left(\frac{\delta z (D^{\lambda,p}(f(z)))^{(m+1)} + \lambda z^2 (D^{\lambda,p}(f(z)))^{(m+2)}}{\lambda z (D^{\lambda,p}(f(z)))^{(m+1)} + (\delta - \lambda) (D^{\lambda,p}(f(z)))^{(m)}} - (p-m) \right) \right| < 1$$

$p \in \mathbb{N}, m \in \mathbb{N} \cup \{0\}, z \in U, p > \max(m, -\lambda), b \in \mathbb{C} \cup \{0\}, \lambda \geq 0, 0 < \delta \leq 1$

Furthermore a function $f(z)$ is said to belong to the class $G_{n,m}^p(\lambda, b, \delta)$ if and only if $zf'(z) \in S_{n,m}^p(\lambda, b, \delta)$

The object of the present paper is to investigate the various properties and characteristics of analytic p-valent functions belonging to the subclasses $S_{n,m}^p(\lambda, b, \delta)$ and $G_{n,m}^p(\lambda, b, \delta)$ which we have defined here. Apart from deriving a set of coefficient bounds for each of these function classes, we establish distortion theorem, radius of starlikeness, convexity and closure theorem.

Our definitions of the function classes $S_{n,m}^p(\lambda, b, \delta)$ and $G_{n,m}^p(\lambda, b, \delta)$ are motivated by the investigation of H. M. Srivastava and others [2], we have relaxed the parametric constraint $0 \leq \lambda \leq 1$.

2. COEFFICIENT ESTIMATES

THEOREM 1:- A function $f(z) \in A(n)$ and defined by

$$f(z) = z^p - \sum_{k=n+p}^{\infty} a_k z^k, a_k \geq 0 \text{ and } p \in \mathbb{N}, \text{ is in } S_{n,m}^p(\lambda, b, \delta) \text{ if and only if}$$

$$\sum_{k=n+p}^{\infty} \binom{\lambda+k-1}{k-p} \binom{k}{m} [\lambda(k-m-1) + \delta] [k-p + |b|] a_k \leq |b| \binom{p}{m} [\lambda(p-m-1) + \delta] \dots(1.1)$$

PROOF:- Suppose that $f(z) \in S_{n,m}^p(\lambda, b, \delta)$

Therefore we have

$$\left| \frac{1}{b} \left(\frac{\delta z (D^{\lambda,p}(f(z)))^{(m+1)} + \lambda z^2 (D^{\lambda,p}(f(z)))^{(m+2)}}{\lambda z (D^{\lambda,p}(f(z)))^{(m+1)} + (\delta - \lambda) (D^{\lambda,p}(f(z)))^{(m)}} - (p-m) \right) \right| < 1 \dots\dots\dots (1.2)$$

$$(D^{\lambda,p}(f(z)))^{(m)} = \binom{p}{m} z^{p-m} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} a_k z^{k-m}$$

$$(D^{\lambda,p}(f(z)))^{(m+1)} = \binom{p}{m} (p-m) z^{p-m-1} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} (k-m) a_k z^{k-m-1}$$

$$(D^{\lambda,p}(f(z)))^{(m+2)} = \binom{p}{m} (p-m)(p-m-1) z^{p-m-2} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} (k-m)(k-m-1) a_k z^{k-m-2}$$

$$\delta z (D^{\lambda,p}(f(z)))^{(m+1)} + \lambda z^2 (D^{\lambda,p}(f(z)))^{(m+2)} = \binom{p}{m} (p-m) [\delta + \lambda(p-m-1)] z^{p-m} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} (k-m) [\delta + \lambda(k-m-1)] a_k z^{k-m}$$

$$\lambda z (D^{\lambda,p}(f(z)))^{(m+1)} + (\delta - \lambda) (D^{\lambda,p}(f(z)))^{(m)} = \binom{p}{m} [\lambda(p-m) + \delta - \lambda] z^{p-m} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} [\lambda(k-m) + \delta - \lambda] a_k z^{k-m}$$

From (1.2) we have

$$\left| \frac{1}{b} \left(\frac{\sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} [\lambda(k-m-1) + \delta] [-k+m+p-m] a_k z^{k-m}}{\binom{p}{m} [\lambda(p-m-1) + \delta] z^{p-m} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} [\lambda(k-m-1) + \delta] a_k z^{k-m}} \right) \right| < 1 \dots\dots\dots(1.3)$$

We know that $Re(z) < |z|$, also putting $z = r_1, 0 \leq r_1 \leq 1$ in (1.3), we observe that expression in the denominator on left hand side of (1.3) is positive for $r_1 = 0$ and by letting $r_1 \rightarrow 1_-$ through real values, (1.3) leads us that

$$\frac{1}{|b|} \left[\frac{\sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} [\lambda(k-m-1) + \delta] [k-p] a_k}{\binom{p}{m} [\lambda(p-m-1) + \delta] - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} [\lambda(k-m-1) + \delta] a_k} \right] \leq 1$$

$$\sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} [\lambda(k-m-1) + \delta] [k-p + |b|] a_k \leq |b| \binom{p}{m} [\lambda(p-m-1) + \delta]$$

Hence we get (1.1)

Conversely, by applying (2) and setting $|z| = 1$ we find that

$$\left| \left(\frac{\delta z (D^{\lambda,p}(f(z)))^{(m+1)} + \lambda z^2 (D^{\lambda,p}(f(z)))^{(m+2)}}{\lambda z (D^{\lambda,p}(f(z)))^{(m+1)} + (\delta - \lambda) (D^{\lambda,p}(f(z)))^{(m)}} - (p-m) \right) \right|$$

$$= \left| \left(\frac{\sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} [\lambda(k-m-1) + \delta] [k-p] a_k z^{k-m}}{\binom{p}{m} [\lambda(p-m-1) + \delta] z^{p-m} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} [\lambda(k-m-1) + \delta] a_k z^{k-m}} \right) \right|$$

$$\leq |b| \frac{\binom{p}{m} [\lambda(p-m-1) + \delta] z^{p-m} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} [\lambda(k-m-1) + \delta] a_k z^{k-m}}{\binom{p}{m} [\lambda(p-m-1) + \delta] z^{p-m} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} [\lambda(k-m-1) + \delta] a_k z^{k-m}} = |b|$$

Hence by the maximum modulus principle, we infer that $f(z) \in S_{n,m}^p(\lambda, b, \delta)$ which completes the proof of Theorem 1.

COROLLARY 1.1:- $f(z) \in S_{n,m}^p(\lambda, b, \delta)$ then

$$a_k \leq \frac{|b| \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{k}{m} \binom{\lambda+k-1}{k-p} [\lambda(k-m-1) + \delta] [k-p + |b|]}$$

COROLLARY 1.2:- for $p = 1, m = 0$ we have

$$a_k \leq \frac{|b| \delta}{\binom{\lambda+k-1}{k-1} [\lambda(k-1) + \delta] [k-1 + |b|]}, \quad k \geq n + p$$

COROLLARY 1.3:- for $p = 1, m = 1$ we have

$$a_k \leq \frac{|b| [\delta - \lambda]}{k \binom{\lambda+k-1}{k-p} [\lambda k + \delta] [k-1 + |b|]}$$

COROLLARY 1.4:- for $p = 1, m = 1, \lambda = 1$ we have

$$a_k \leq \frac{|b| [\delta - 1]}{k^2 [k + \delta] [k-1 + |b|]}$$

THEOREM 2:- A function $f(z) \in A(n)$ and defined by

$f(z) = z^p - \sum_{k=n+p}^{\infty} a_k z^k, a_k \geq 0$ and $p \in \mathbb{N}$, is in $G_{n,m}^p(\lambda, b, \delta)$ if and only if

$$\sum_{k=n+p}^{\infty} \binom{\lambda+k-1}{k-p} \binom{k}{m} k [\lambda(k-m-1) + \delta] [k-p + |b|] \leq |b| \binom{p}{m} p [\lambda(p-m-1) + \delta] \tag{2.1}$$

PROOF:- $f(z) \in G_{n,m}^p(\lambda, b, \delta)$ if and only if $zf'(z) \in S_{n,m}^p(\lambda, b, \delta)$

Let $g(z) = zf'(z) = p z^p - \sum_{k=n+p}^{\infty} k a_k z^k$

$$g(z) \in S_{n,m}^p(\lambda, b, \delta)$$

Therefore

$$\left| \frac{1}{b} \left(\frac{\delta z (D^{\lambda,p}(g(z)))^{(m+1)} + \lambda z^2 (D^{\lambda,p}(g(z)))^{(m+2)}}{\lambda z (D^{\lambda,p}(g(z)))^{(m+1)} + (\delta - \lambda) (D^{\lambda,p}(g(z)))^{(m)}} - (p - m) \right) \right| < 1 \tag{2.2}$$

$$(D^{\lambda,p}(g(z)))^{(m)} = \binom{p}{m} p z^{p-m} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} k a_k z^{k-m}$$

$$(D^{\lambda,p}(g(z)))^{(m+1)} = \binom{p}{m} p(p-m) z^{p-m-1} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} (k-m) k a_k z^{k-m-1}$$

$$(D^{\lambda,p}(g(z)))^{(m+2)} = \binom{p}{m} p(p-m)(p-m-1) z^{p-m-2} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} (k-m)(k-m-1) k a_k z^{k-m-2}$$

$$\delta z (D^{\lambda,p}(g(z)))^{(m+1)} + \lambda z^2 (D^{\lambda,p}(g(z)))^{(m+2)} = \binom{p}{m} p(p-m) [\delta + \lambda(p-m-1)] z^{p-m} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} k(k-m) [\delta + \lambda(k-m-1)] a_k z^{k-m}$$

$$\lambda z (D^{\lambda,p}(g(z)))^{(m+1)} + (\delta - \lambda) (D^{\lambda,p}(g(z)))^{(m)}$$

$$= p \binom{p}{m} [\lambda(p - m) + \delta - \lambda] z^{p-m} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda + k - 1}{k - p} k [\lambda(k - m) + \delta - \lambda] a_k z^{k-m}$$

From (2.2) we have

$$\left| \frac{1}{b} \left(\frac{\sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} [\lambda(k-m-1) + \delta] k [-k+p] a_k z^{k-m}}{\binom{p}{m} p [\lambda(p-m-1) + \delta] z^{p-m} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} k [\lambda(k-m-1) + \delta] a_k z^{k-m}} \right) \right| < 1 \tag{2.3}$$

We know that $Re(z) < |z|$, also putting $z = r_1$, $0 \leq r_1 \leq 1$ in (2.3), we observe that expression in the denominator on left hand side of (2.3) is positive for $r_1 = 0$ and by letting $r_1 \rightarrow 1_-$ through real values, (2.3) leads us that

$$\frac{1}{|b|} \left[\frac{\sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} [\lambda(k-m-1) + \delta] k [-k+p] a_k}{p \binom{p}{m} [\lambda(p-m-1) + \delta] - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} k [\lambda(k-m-1) + \delta] a_k} \right] \leq 1$$

$$\sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda + k - 1}{k - p} k [\lambda(k - m - 1) + \delta] [k - p + |b|] a_k \leq |b| p \binom{p}{m} [\lambda(p - m - 1) + \delta]$$

Hence we get (2.1)

Conversely, by applying (2) and setting $|z| = 1$ we find that

$$\left| \left(\frac{\delta z (D^{\lambda,p}(g(z)))^{(m+1)} + \lambda z^2 (D^{\lambda,p}(g(z)))^{(m+2)}}{\lambda z (D^{\lambda,p}(g(z)))^{(m+1)} + (\delta - \lambda) (D^{\lambda,p}(g(z)))^{(m)}} - (p - m) \right) \right|$$

$$= \left| \left(\frac{\sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} k [\lambda(k-m-1) + \delta] [k-p] a_k z^{k-m}}{p \binom{p}{m} [\lambda(p-m-1) + \delta] z^{p-m} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} k [\lambda(k-m-1) + \delta] a_k z^{k-m}} \right) \right|$$

$$\leq |b| \frac{p \binom{p}{m} [\lambda(p-m-1) + \delta] z^{p-m} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} k [\lambda(k-m-1) + \delta] a_k z^{k-m}}{p \binom{p}{m} [\lambda(p-m-1) + \delta] z^{p-m} - \sum_{k=n+p}^{\infty} \binom{k}{m} \binom{\lambda+k-1}{k-p} k [\lambda(k-m-1) + \delta] a_k z^{k-m}} = |b|$$

Hence by the maximum modulus principle, we infer that $g(z) \in S_{n,m}^p(\lambda, b, \delta)$ which completes the proof of Theorem 2.

COROLLARY 2.1:- $f(z) \in G_{n,m}^p(\lambda, b, \delta)$ then

$$a_k \leq \frac{|b| p \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{k}{m} \binom{\lambda+k-1}{k-p} k [\lambda(k-m-1) + \delta] [k-p+|b|]}, \quad k \geq n + p$$

3. GROWTH AND DISTORTION THEOREM

THEOREM 3:- If $f(z) \in S_{n,m}^p(\lambda, b, \delta)$ then

$$|z|^p - |z|^{n+p} \frac{|b| \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta] [n+|b|]} \leq |f(z)|$$

$$\leq |z|^p + |z|^{n+p} \frac{|b| \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta] [n+|b|]}$$

With equality hold for

$$f(z) = z^p - z^{n+p} \frac{|b| \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta] [n+|b|]}$$

PROOF :- $f(z) \in S_{n,m}^p(\lambda, b, \delta)$

Therefore from (1.1)

$$\sum_{k=n+p}^{\infty} \binom{\lambda + k - 1}{k - p} \binom{k}{m} [\lambda(k - m - 1) + \delta] [k - p + |b|] \leq |b| \binom{p}{m} [\lambda(p - m - 1) + \delta]$$

Therefore

$$\sum_{k=n+p}^{\infty} a_k \leq \frac{|b| \binom{p}{m} [\lambda(p - m - 1) + \delta]}{\binom{k}{m} \binom{\lambda+k-1}{k-p} [\lambda(k - m - 1) + \delta] [k - p + |b|]}$$

$$f(z) = z^p - \sum_{k=n+p}^{\infty} a_k z^k$$

$$|f(z)| \geq |z|^p - \sum_{k=n+p}^{\infty} |a_k| |z|^k \geq |z|^p - |z|^{n+p} \sum_{k=n+p}^{\infty} |a_k|$$

$$\geq |z|^p - |z|^{n+p} \frac{|b| \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta] [n + |b|]}$$

Similarly

$$|f(z)| \leq |z|^p + \sum_{k=n+p}^{\infty} |a_k| |z|^k \leq |z|^p + |z|^{n+p} \sum_{k=n+p}^{\infty} |a_k|$$

$$\leq |z|^p + |z|^{n+p} \frac{|b| \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta] [n + |b|]}$$

Therefore

$$|z|^p - |z|^{n+p} \frac{|b| \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta] [n + |b|]} \leq |f(z)|$$

$$\leq |z|^p + |z|^{n+p} \frac{|b| \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta] [n + |b|]}$$

THEOREM 4:- If $f(z) \in G_{n,m}^p(\lambda, b, \delta)$ then

$$|z|^p - |z|^{n+p} \frac{|b|p \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} (n+p) [\lambda(n+p-m-1) + \delta] [n + |b|]} \leq |f(z)|$$

$$\leq |z|^p + |z|^{n+p} \frac{|b|p \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} (n+p) [\lambda(n+p-m-1) + \delta] [n + |b|]}$$

With equality hold for

$$f(z) = z^p - z^{n+p} \frac{|b|p \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} (n+p) [\lambda(n+p-m-1) + \delta] [n + |b|]}$$

PROOF :- $f(z) \in G_{n,m}^p(\lambda, b, \delta)$

Therefore from (2.1)

$$\sum_{k=n+p}^{\infty} \binom{\lambda+k-1}{k-p} \binom{k}{m} k [\lambda(k-m-1) + \delta] [k-p+|b|] \leq |b|p \binom{p}{m} [\lambda(p-m-1) + \delta]$$

Therefore

$$\sum_{k=n+p}^{\infty} a_k \leq \frac{|b|p \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{k}{m} \binom{\lambda+k-1}{k-p} k [\lambda(k-m-1) + \delta] [k-p+|b|]}$$

$$f(z) = z^p - \sum_{k=n+p}^{\infty} a_k z^k$$

$$|f(z)| \geq |z|^p - \sum_{k=n+p}^{\infty} |a_k| |z|^k \geq |z|^p - |z|^{n+p} \sum_{k=n+p}^{\infty} |a_k|$$

$$\geq |z|^p - |z|^{n+p} \frac{|b|p \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} (n+p) [\lambda(n+p-m-1) + \delta] [n + |b|]}$$

Similarly

$$|f(z)| \leq |z|^p + \sum_{k=n+p}^{\infty} |a_k| |z|^k \leq |z|^p + |z|^{n+p} \sum_{k=n+p}^{\infty} |a_k|$$

$$\leq |z|^p + |z|^{n+p} \frac{|b|p \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} (n+p) [\lambda(n+p-m-1) + \delta] [n+|b|]}$$

Therefore

$$|z|^p - |z|^{n+p} \frac{|b|p \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} (n+p) [\lambda(n+p-m-1) + \delta] [n+|b|]} \leq |f(z)|$$

$$\leq |z|^p + |z|^{n+p} \frac{|b|p \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} (n+p) [\lambda(n+p-m-1) + \delta] [n+|b|]}$$

THEOREM 5:- If $f(z) \in S_{n,m}^p(\lambda, b, \delta)$ then

$$p|z|^{p-1} - |z|^{n+p-1} \frac{|b| \binom{p}{m} (n+p) [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta] [n+|b|]} \leq |f'(z)|$$

$$\leq p|z|^{p-1} + |z|^{n+p-1} \frac{|b| \binom{p}{m} (n+p) [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta] [n+|b|]}$$

With equality hold for

$$f(z) = z^p - z^{n+p} \frac{|b| \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta] [n+|b|]}$$

PROOF :- $f(z) \in S_{n,m}^p(\lambda, b, \delta)$

Therefore from (1.1)

$$\sum_{k=n+p}^{\infty} \binom{\lambda+k-1}{k-p} \binom{k}{m} [\lambda(k-m-1) + \delta] [k-p+|b|] \leq |b| \binom{p}{m} [\lambda(p-m-1) + \delta]$$

Therefore

$$\sum_{k=n+p}^{\infty} a_k \leq \frac{|b| \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{k}{m} \binom{\lambda+k-1}{k-p} [\lambda(k-m-1) + \delta] [k-p+|b|]}$$

$$f(z) = z^p - \sum_{k=n+p}^{\infty} a_k z^k$$

$$f'(z) = pz^{p-1} - \sum_{k=n+p}^{\infty} a_k k z^{k-1}$$

$$|f'(z)| \geq p|z|^{p-1} - \sum_{k=n+p}^{\infty} |a_k| k |z|^{k-1} \geq p|z|^{p-1} - |z|^{n+p-1} (n+p) \sum_{k=n+p}^{\infty} |a_k|$$

$$\geq p|z|^{p-1} - |z|^{n+p-1} \frac{|b| \binom{p}{m} (n+p) [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta] [n+|b|]}$$

Similarly

$$|f'(z)| \leq p|z|^{p-1} + \sum_{k=n+p}^{\infty} |a_k| k |z|^{k-1} \leq p|z|^{p-1} + |z|^{n+p-1} (n+p) \sum_{k=n+p}^{\infty} |a_k|$$

$$\leq p|z|^{p-1} + |z|^{n+p-1} \frac{|b| \binom{p}{m} (n+p) [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta] [n+|b|]}$$

Therefore

$$p|z|^{p-1} - |z|^{n+p-1} \frac{|b| \binom{p}{m} (n+p)[\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta][n+|b|]} \leq |f'(z)|$$

$$\leq p|z|^{p-1} + |z|^{n+p-1} \frac{|b| \binom{p}{m} (n+p)[\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta][n+|b|]}$$

THEOREM 6:- If $f(z) \in G_{n,m}^p(\lambda, b, \delta)$ then

$$p|z|^{p-1} - |z|^{n+p-1} \frac{|b| \binom{p}{m} p[\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta][n+|b|]} \leq |f'(z)|$$

$$\leq p|z|^{p-1} + |z|^{n+p-1} \frac{|b| \binom{p}{m} p[\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta][n+|b|]}$$

With equality hold for

$$f(z) = z^p - z^{n+p} \frac{|b| p \binom{p}{m} [\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} (n+p)[\lambda(n+p-m-1) + \delta][n+|b|]}$$

PROOF :- $f(z) \in G_{n,m}^p(\lambda, b, \delta)$

Therefore from (1.1)

$$\sum_{k=n+p}^{\infty} \binom{\lambda+k-1}{k-p} \binom{k}{m} k[\lambda(k-m-1) + \delta][k-p+|b|] \leq |b| p \binom{p}{m} [\lambda(p-m-1) + \delta]$$

Therefore

$$\sum_{k=n+p}^{\infty} a_k \leq \frac{|b| \binom{p}{m} p[\lambda(p-m-1) + \delta]}{\binom{k}{m} \binom{\lambda+k-1}{k-p} k[\lambda(k-m-1) + \delta][k-p+|b|]}$$

$$f(z) = z^p - \sum_{k=n+p}^{\infty} a_k z^k$$

$$f'(z) = pz^{p-1} - \sum_{k=n+p}^{\infty} a_k k z^{k-1}$$

$$|f'(z)| \geq p|z|^{p-1} - \sum_{k=n+p}^{\infty} |a_k| k |z|^{k-1} \geq p|z|^{p-1} - |z|^{n+p-1} (n+p) \sum_{k=n+p}^{\infty} |a_k|$$

$$\geq p|z|^{p-1} - |z|^{n+p-1} \frac{|b| \binom{p}{m} p[\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta][n+|b|]}$$

Similarly

$$|f'(z)| \leq p|z|^{p-1} + \sum_{k=n+p}^{\infty} |a_k| k |z|^{k-1} \leq p|z|^{p-1} + |z|^{n+p-1} (n+p) \sum_{k=n+p}^{\infty} |a_k|$$

$$\leq p|z|^{p-1} + |z|^{n+p-1} \frac{|b| \binom{p}{m} p[\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta][n+|b|]}$$

Therefore

$$p|z|^{p-1} - |z|^{n+p-1} \frac{|b| \binom{p}{m} p[\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta][n+|b|]} \leq |f'(z)|$$

$$\leq p|z|^{p-1} + |z|^{n+p-1} \frac{|b| \binom{p}{m} p[\lambda(p-m-1) + \delta]}{\binom{n+p}{m} \binom{\lambda+n+p-1}{n} [\lambda(n+p-m-1) + \delta][n+|b|]}$$

4. RADII OF CLOSE-TO-CONVEXITY, STARLIKENESS AND CONVEXITY

A function $f(z) \in A(n)$ is said to be close to convex of order α ($0 \leq \alpha < 1$) if

$Re \{f'(z)\} > \alpha$ for all $z \in U$

A function $f(z) \in A(n)$ is said to be starlike of order α ($0 \leq \alpha < 1$) if

$$\operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} \right\} > \alpha \text{ for all } z \in U$$

A function $f(z) \in A(n)$ is said to be convex of order α ($0 \leq \alpha < 1$) if and only if $zf'(z)$ is starlike of order α , that is

$$\operatorname{Re} \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > \alpha \text{ for all } z \in U$$

THEOREM 7:- If $f(z) \in S_{n,m}^p(\lambda, b, \delta)$, then f is close to convex of order α in $|z| < r_1(p, n, m, \lambda, b, \delta, \alpha)$ where

$$r_1(p, n, m, \lambda, b, \delta, \alpha) = \inf_k \left(\left(\binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{(p-\alpha)[\lambda(k-m-1)+\delta][k-p+|b|]}{k|b| \binom{p}{m} [\lambda(p-m-1)+\delta]} \right)^{\frac{1}{k-p}} \right)$$

PROOF:- It is sufficient to show that $\left| \frac{f'(z)}{z^{p-1}} - p \right| < p-\alpha$

$$f'(z) = pz^{p-1} - \sum_{k=n+p}^{\infty} k a_k z^{k-1}$$

$$\frac{f'(z)}{z^{p-1}} = p - \sum_{k=n+p}^{\infty} k a_k z^{k-p}$$

$$\left| \frac{f'(z)}{z^{p-1}} - p \right| \leq \sum_{k=n+p}^{\infty} k |a_k| |z|^{k-p} < p-\alpha \tag{7.1}$$

From (1.1) we have

$$\sum_{k=n+p}^{\infty} \binom{\lambda+k-1}{k-p} \binom{k}{m} [\lambda(k-m-1)+\delta][k-p+|b|] a_k \leq |b| \binom{p}{m} [\lambda(p-m-1)+\delta]$$

That is

$$\sum_{k=n+p}^{\infty} \binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{[\lambda(k-m-1)+\delta][k-p+|b|]}{|b| \binom{p}{m} [\lambda(p-m-1)+\delta]} a_k \leq 1 \tag{7.2}$$

Observe that (7.1) is true if

$$\frac{k|z|^{k-p}}{p-\alpha} \leq \binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{[\lambda(k-m-1)+\delta][k-p+|b|]}{|b| \binom{p}{m} [\lambda(p-m-1)+\delta]}$$

Therefore

$$|z| \leq \left(\binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{(p-\alpha)[\lambda(k-m-1)+\delta][k-p+|b|]}{k|b| \binom{p}{m} [\lambda(p-m-1)+\delta]} \right)^{\frac{1}{k-p}}$$

($p \neq k, p, k \in \mathbb{N}$), which complete the proof.

THEOREM 8:- If $f(z) \in S_{n,m}^p(\lambda, b, \delta)$, then f is starlike of order α in $|z| < r_2(p, n, m, \lambda, b, \delta, \alpha)$ where

$$r_2(p, n, m, \lambda, b, \delta, \alpha) = \inf_k \left(\left(\binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{(p-\alpha)[\lambda(k-m-1)+\delta][k-p+|b|]}{(k-\alpha)|b| \binom{p}{m} [\lambda(p-m-1)+\delta]} \right)^{\frac{1}{k-p}} \right)$$

PROOF:- We must show that

$$\left| \frac{zf'(z)}{f(z)} - p \right| \leq p-\alpha$$

$$zf'(z) - pf(z) = pz^p - \sum_{k=n+p}^{\infty} k a_k z^k - pz^p + p \sum_{k=n+p}^{\infty} a_k z^k = - \sum_{k=n+p}^{\infty} (k-p) a_k z^k$$

We have

$$\left| \frac{zf'(z)}{f(z)} - p \right| = \left| \frac{-\sum_{k=n+p}^{\infty} (k-p) a_k z^k}{z^p - \sum_{k=n+p}^{\infty} a_k z^k} \right| \leq \frac{\sum_{k=n+p}^{\infty} (k-p) |a_k| |z|^{k-p}}{1 - \sum_{k=n+p}^{\infty} |a_k| |z|^{k-p}} \leq p-\alpha \tag{8.1}$$

Hence (8.1) holds true if

$$\sum_{k=n+p}^{\infty} (k-p) |a_k| |z|^{k-p} \leq (p-\alpha) (1 - \sum_{k=n+p}^{\infty} |a_k| |z|^{k-p})$$

Or equivalently

$$\sum_{k=p+1}^{\infty} \frac{k-\alpha}{p-\alpha} |a_k| |z|^{k-p} \leq 1 \dots\dots\dots(8.2)$$

From (1.1) we have

$$\sum_{k=n+p}^{\infty} \binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{[\lambda(k-m-1)+\delta][k-p+|b|]}{|b| \binom{p}{m} [\lambda(p-m-1)+\delta]} a_k \leq 1 \dots\dots\dots(8.3)$$

Hence by using (8.2) and (8.3) we get

$$\begin{aligned} \frac{k-\alpha}{p-\alpha} |z|^{k-p} &\leq \binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{[\lambda(k-m-1)+\delta][k-p+|b|]}{|b| \binom{p}{m} [\lambda(p-m-1)+\delta]} \\ |z|^{k-p} &\leq \binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{(p-\alpha)[\lambda(k-m-1)+\delta][k-p+|b|]}{(k-\alpha)|b| \binom{p}{m} [\lambda(p-m-1)+\delta]} \\ |z| &\leq \left(\binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{(p-\alpha)[\lambda(k-m-1)+\delta][k-p+|b|]}{(k-\alpha)|b| \binom{p}{m} [\lambda(p-m-1)+\delta]} \right)^{\frac{1}{k-p}} \end{aligned}$$

($p \neq k, p, k \in \mathbb{N}$), which complete the proof.

THEOREM 9:- If $f(z) \in S_{n,m}^p(\lambda, b, \delta)$, then f is convex of order α in $|z| < r_3(p, n, m, \lambda, b, \delta, \alpha)$ where

$$r_3(p, n, m, \lambda, b, \delta, \alpha) = \inf_k \left(\left(\binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{p(p-\alpha)[\lambda(k-m-1)+\delta][k-p+|b|]}{k(k-\alpha)|b| \binom{p}{m} [\lambda(p-m-1)+\delta]} \right)^{\frac{1}{k-p}} \right)$$

PROOF:- We know that f is convex if and only if zf' is starlike

We must show that

$$\left| \frac{zg'(z)}{g(z)} - p \right| \leq p-\alpha$$

Where $g(z) = zf'(z)$

$$\begin{aligned} g(z) &= pz^p - \sum_{k=n+p}^{\infty} k a_k z^k \\ zg'(z) &= p^2 z^p - \sum_{k=n+p}^{\infty} k^2 a_k z^k \\ zg'(z) - pg(z) &= p^2 z^p - \sum_{k=n+p}^{\infty} k^2 a_k z^k - p^2 z^p + p \sum_{k=n+p}^{\infty} k a_k z^k = - \sum_{k=n+p}^{\infty} k(k-p) a_k z^k \\ \left| \frac{zg'(z)}{g(z)} - p \right| &= \left| \frac{-\sum_{k=n+p}^{\infty} k(k-p) a_k z^k}{p z^p - \sum_{k=n+p}^{\infty} k a_k z^k} \right| \leq \frac{\sum_{k=n+p}^{\infty} k(k-p) |a_k| |z|^{k-p}}{p - \sum_{k=n+p}^{\infty} k |a_k| |z|^{k-p}} \leq p-\alpha \end{aligned}$$

Therefore we have

$$\begin{aligned} \sum_{k=n+p}^{\infty} k(k-p) |a_k| |z|^{k-p} &\leq (p-\alpha) \left[p - \sum_{k=n+p}^{\infty} k |a_k| |z|^{k-p} \right] \\ \sum_{k=n+p}^{\infty} \frac{k(k-\alpha)}{p(p-\alpha)} |a_k| |z|^{k-p} &\leq 1 \dots\dots\dots(9.1) \end{aligned}$$

From (1.1) we have

$$\sum_{k=n+p}^{\infty} \binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{[\lambda(k-m-1)+\delta][k-p+|b|]}{|b| \binom{p}{m} [\lambda(p-m-1)+\delta]} a_k \leq 1 \dots\dots\dots(9.2)$$

Hence by using (9.1) and (9.2) we get

$$\frac{k(k-\alpha)}{p(p-\alpha)} |z|^{k-p} \leq \binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{[\lambda(k-m-1)+\delta][k-p+|b|]}{|b| \binom{p}{m} [\lambda(p-m-1)+\delta]}$$

$$|z| \leq \left(\binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{p(p-\alpha)[\lambda(k-m-1)+\delta][k-p+|b|]}{k(k-\alpha)|b|\binom{p}{m}[\lambda(p-m-1)+\delta]} \right)^{\frac{1}{k-p}}$$

($p \neq k, p, k \in \mathbb{N}$), which complete the proof.

5. CLOSURE THEOREM

THEOREM 10 :

Let $f_1(z) = z^p$ and $f_k(z) = z^p - \binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{[\lambda(k-m-1)+\delta][k-p+|b|]}{|b|\binom{p}{m}[\lambda(p-m-1)+\delta]} z^k$ for $k \geq n+p$

Then $f(z) \in S_{n,m}^p(\lambda, b, \delta)$ if and only if $f(z)$ can be expressed in the form $f(z) = \lambda_1 f_1(z) + \sum_{k=n+p}^{\infty} \lambda_k f_k(z)$ where $\lambda_k \geq 0$ and $\lambda_1 + \sum_{k=n+p}^{\infty} \lambda_k = 1$

PROOF: - Suppose $f(z)$ can be expressed in the form

$$\begin{aligned} f(z) &= \lambda_1 f_1(z) + \sum_{k=n+p}^{\infty} \lambda_k f_k(z) \\ &= \lambda_1 z^p + \sum_{k=n+p}^{\infty} \lambda_k \left[z^p - \binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{[\lambda(k-m-1)+\delta][k-p+|b|]}{|b|\binom{p}{m}[\lambda(p-m-1)+\delta]} z^k \right] \\ &= [\lambda_1 + \sum_{k=n+p}^{\infty} \lambda_k] z^p - \sum_{k=n+p}^{\infty} \lambda_k \binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{[\lambda(k-m-1)+\delta][k-p+|b|]}{|b|\binom{p}{m}[\lambda(p-m-1)+\delta]} z^k \\ &= z^p - \sum_{k=n+p}^{\infty} \lambda_k \binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{[\lambda(k-m-1)+\delta][k-p+|b|]}{|b|\binom{p}{m}[\lambda(p-m-1)+\delta]} z^k \end{aligned}$$

Then

$$\begin{aligned} \sum_{k=n+p}^{\infty} \lambda_k \binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{[\lambda(k-m-1)+\delta][k-p+|b|]}{|b|\binom{p}{m}[\lambda(p-m-1)+\delta]} \cdot \frac{|b|\binom{p}{m}[\lambda(p-m-1)+\delta]}{\binom{\lambda+k-1}{k-p} \binom{k}{m} [\lambda(k-m-1)+\delta][k-p+|b|]} z^k \\ = \sum_{k=n+p}^{\infty} \lambda_k = 1 - \lambda_1 \leq 1 \end{aligned}$$

Therefore $f(z) \in S_{n,m}^p(\lambda, b, \delta)$

Conversely, suppose that $f(z) \in S_{n,m}^p(\lambda, b, \delta)$

We have

$$a_k \leq \binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{[\lambda(k-m-1)+\delta][k-p+|b|]}{|b|\binom{p}{m}[\lambda(p-m-1)+\delta]}$$

We take

$$\begin{aligned} \lambda_k &= \frac{|b|\binom{p}{m}[\lambda(p-m-1)+\delta]}{\binom{\lambda+k-1}{k-p} \binom{k}{m} [\lambda(k-m-1)+\delta][k-p+|b|]} a_k \\ &\quad k \geq n+p \text{ and } \sum_{k=n+p}^{\infty} \lambda_k = 1 - \lambda_1 \\ f(z) &= z^p - \sum_{k=n+p}^{\infty} a_k z^k \\ &= z^p - \sum_{k=n+p}^{\infty} \binom{\lambda+k-1}{k-p} \binom{k}{m} \frac{[\lambda(k-m-1)+\delta][k-p+|b|]}{|b|\binom{p}{m}[\lambda(p-m-1)+\delta]} z^k \\ &= z^p - \sum_{k=n+p}^{\infty} \lambda_k [z^p - f_k(z)] = z^p \left[1 - \sum_{k=n+p}^{\infty} \lambda_k \right] - \sum_{k=n+p}^{\infty} \lambda_k f_k(z) = \lambda_1 f_1(z) + \sum_{k=n+p}^{\infty} \lambda_k f_k(z) \end{aligned}$$

REFERENCES

1. Pravin Ganpat Jadhav and S. M. Khairnar, certain subclasses of analytic and multivalent functions in the unit disc International J. of Math. Sci. & Engg. Appls. (IJMSEA) Vol. 6 No. VI (November, 2012), pp.175-192
2. H.M. Srivastava, K. Suchithra, B. Adolf Stephen, and S. Sivasubramanian, Inclusion and neighborhood properties of certain subclasses of analytic and multivalent functions of complex order, Journal of inequality in Pure and Applied Mathematics, Vol. 7, Issue 5, Article 191, 2006
3. S. M. Khairnar and Meena More, On a Class of Meromorphic Multivalent Functions with Negative Coefficients Defined by Ruscheweyh Derivative, International Mathematical Forum, 3, 2008, no. 22, 1087 – 1097
4. R. K. Raina and H. M. Srivastava, Inclusion and neighborhood properties of some analytic and multivalent functions, J. Inequal. Pure. Appl. Math., 7(1) (2006), Art.5.
5. N.E. CHO AND H.M. SRIVASTAVA, Argument estimates of certain analytic functions defined by a class of multiplier transformations, Math. Comput. Modelling, 37 (2003), 39–49.

6. A.W. GOODMAN, Univalent functions and nonanalytic curves, *Proc. Amer. Math. Soc.*, 8 (1957),598–601.
7. G. MURUGUSUNDARAMOORTHY AND H.M. SRIVASTAVA, Neighborhoods of certain classes of analytic functions of complex order, *J. Inequal. Pure Appl. Math.*, 5(2) (2004), Art. 24.
8. S. RUSCHEWEYH, Neighborhoods of univalent functions, *Proc. Amer. Math. Soc.*, 81 (1981),521–527.

This academic article was published by The International Institute for Science, Technology and Education (IISTE). The IISTE is a pioneer in the Open Access Publishing service based in the U.S. and Europe. The aim of the institute is Accelerating Global Knowledge Sharing.

More information about the publisher can be found in the IISTE's homepage:

<http://www.iiste.org>

CALL FOR PAPERS

The IISTE is currently hosting more than 30 peer-reviewed academic journals and collaborating with academic institutions around the world. There's no deadline for submission. **Prospective authors of IISTE journals can find the submission instruction on the following page:** <http://www.iiste.org/Journals/>

The IISTE editorial team promises to review and publish all the qualified submissions in a **fast** manner. All the journals articles are available online to the readers all over the world without financial, legal, or technical barriers other than those inseparable from gaining access to the internet itself. Printed version of the journals is also available upon request of readers and authors.

IISTE Knowledge Sharing Partners

EBSCO, Index Copernicus, Ulrich's Periodicals Directory, JournalTOCS, PKP Open Archives Harvester, Bielefeld Academic Search Engine, Elektronische Zeitschriftenbibliothek EZB, Open J-Gate, OCLC WorldCat, Universe Digital Library, NewJour, Google Scholar

